&3 BEHUKBIEREER

B KA ERER
TETAT TiH-BXEOEW MR X 7 E&\ - HEkE BEKEE HAEE -5
X% REREAR 3
m’/H8 pg-TEQ/L pg-TEQ/L
i Mmoo -t 53— 15 %A R3.6.29 411 0.000054
R4.1.17 40.4 0.000039
I L NES 154 35 KiE
AFRNERRET/KEIRISE ZERRUOES 18 35 R3.5.12 112,850 0.00012 BRE
R3.5.12 40,080 0.000054 F2MFEAR T
R3.8.4 240,340 0.00015 BRE
R3.8.4 38,200 0.000039 F2MFAR T
R3.11.10 186,960 0.00021 BRE
R3.11.10 14,860 0.000045 F2MFEAR TR
R4.1.5 164,150 0.00026 BRE
R4.1.5 27,810 0.000069 F2WFAR T
IR INERFRET/KEIRNE—RRNIES 18 BRE R3.5.12 16,150 0.00010 HEEATL
R3.8.4 19,422 0.00011 TR A FL
R3.11.10 19,400 0.00039 TR A FL
| _ R4.1.5 16,619 0.00095 WU A FL
|55 HHHE_—FiRTH 154 5 F R3.7.19 80 0.000024
BHEEH JXERBM FESHERT 154 {5 FA R3.8.19 804,733 0.62
DICH) FEIH 15,154,150 | {# R3.12.13 7,802 0.017 JBGRIK
R3.12.13 3,869 2.0 EKAEED
KHRA 7 L) TEIH 154 {5 FA R3.12.2 4610 0.97
HAEERTESEM 154 {5 FA R3.4.21 130 0 10
JINCHBILFM hREER 15,154 {5 FA R3.10.4 16,503 0.14
SAFUM TEIS 154,150 5 R3.10.26 190 0
AGCH) FEIi5 154 %A R3.5.24 11,700 1.2 FaHkO
R3.5.26 3,800 0.91 kO
BL-I7AU73HIL TESES 154,150 BRE R3.6.29 11,640 0.037
Ry SR RNIES 18,151 EHA R3.9.16 25,621 0.00086
R4.2.4 23,907 0.00023
AERHLER TEIS 19,154,150 | fHFR R3.7.29 16,000 0.41
=H-r3x—X700705 9V TETH 170 5 A R3.9.27 415 0.00017
HrFm  [FEDRETKEFEBRRLES 18 =R R3.10.6 230,805 0.00015
R3.10.20 241,143 0.000084
| _ _ R3.12.15 224,776 0.00022
E=iE Sind BREZRRNES 18 RE R3.6.8 21,190 0.000087
womm  |GERIEFEN TETS 154,150 %A R3.7.12 6,550 0.021
FERIEFEM FEILS (7 HEX) 19,154 EHA R3.7.13 18,179 0.025 HIEZHKO
R3.7.13 70,882 0.017 JesAEEK DO
_ R37.13 110558 0014 SRk (FHEK D)
WI A |BFERPH FE TS _ 154 4 R3.5.26 2,000 0.061
1 I BT AVSARITER EEAS HIFITH 4 RE R3.5.18 262 0.11
| _ R3.11.14 262 0.044
AN WEREIR TESFEM 154 BRE R3.6.21 34978 0.14
GE1) RS OMAETT7 IV M RE T DEN REFER. M5 EEEMRANFICEVNTET DIROTEIER. M50 1 EEEMRENIFICHTDBEH RS, 11501 [EEEMRENIFICEHT
HEBRECAMER. MTOIETAVEBIEORICET 2EN REEER. M8IIXBEMRITFRSEKIIEREZSD T/KENET S TAEKRRNIERER. 119134045 E HE S HEH K D ILER HEER
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